Exponential Applications (part 1) ‘\P"' |3/z°,/

Ex.1 A cup of hot cocoa left on a desk in a classroom
had its temperature measured once every minute...
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2
a) What was the temperature at the start? ?S- C

©
b) What was the temperature after 1 hour? 23 C

c) What was the temperature of the classroom? ZD C

(as )

d) At what time was the cocoa 35°C? & 3o mia

e) Comment on the ratio of the y-values:
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f) Determine an algebraic model using hours:
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g) Determine an algebraic model using minutes:
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a) Create a TOV and graph

Ex.2 A tennis ball is dropped from 10 m. After each
bounce, its height is 45% of the previous height.
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Ex.2 A tennis ball is dropped from 10 m. After each

bounce, its height is 45% of the previous height.

a) Create a TOV and graph
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b) Estimate when the ball's height will be half.
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c) Determine the equation that models the max height
after n bounces.
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Exercises:
handout # 1-4
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